YEAR 7 — ALGESRAIC THINKING. .. |
Olaebraic notation

What do | need to be able to i Reuwords

|I Function: a relationship that. instructs how to get from an input to an output

| |
| |
| |
I do? o || Input: the. number/ symbol put into a function I
| Bythe end of this unit you shouidbe abee | | Output: the number/” expression that comes out of a function |
I tor | Operation: a mathematical process |
: y ”56 abke to use IYW? se operations and |I Inverse: the. operation that undoes what was done by the previous operation. (The. opposite operation) |
| operation familes || Commutative: the. order of the operations do not matter :
| Be abk to substitute nto singe and I Substitute: repace one variable with a number or new variable |
I two step function machines I+ Expression: a maths sentence with a minimum of two numbers and at least one math operation (no equas sign) I
|+ Fndfunctions from expressons I Evalugte: work out |
| = Formsequences from expressons 1 Linear: the dfference between terms increases or decreases by the same valve each time |
|+ Represenl furcions gophicaly | ) Sequerce: tems or rurbers plnapreeodedorer |
- —————— == N Tt T T T . T T T T o T ]
| Single function machines I | Using letters to represent numbers |: | Snate function machines (algebra) |

l | INPUT ourur |
: INPUT — —> QUTPUT [} 27975 | uryryry ! 20-h Il |
| The rumber that goes IN The rumber that comes out | I 3x5 ! yx 4 ! 20 Il a —» s —> |

| —
| This box gies the catulation instruction : : 5¢3 l{ 4xy ! h :: 3 —» — > 30 :
| 4y 4 x___“
| Il Gudtion and I I
| oh WU’[ | | multipieation can be ? '20 sharedrio |l -0 [
| Oum tme mggggm ef i | dnenanyorder 4 pisof ' rorber of I To find the input from the output |
| s operaion || Commutative calculations 9roups |L Use the INVERSE operation |
———————————————— _l————————————————_l — —— — — — — — — — — — — — —
= s . —~  — T B ST S 1
| Find functions from expressions | : Substitution into expressions :. [ Two step function machines |
: INPUT OUTPUT : | 4y 4¢—— 4bisof Yy I : _ :
I w7 TP K I I y = 7 this means the expressionis askingfor 4 | g — — — g |
! Find the. relationship betwieen the input and the. output I: sol'7 :I ) o
I e reialions| elween ne INpul ary e, oUl
: i onship n o :I 4xT R TeTe 7T R Txé - 28 I: Cabu\atei\veﬁattheendktiioiogemt\on :
| Sometimes there can be a number of possible {unctionsl | I For the rput e the INVERSE cperaters |
| €9 *7xorx & coud both be sobtions to the dbove | | eg: y—d I |
I function machine |L “7=2-5 J||________________!
r—-r—— - —_—————————— — — [T T === 1
I Two step function machines (algebra) ': Find functions from expressions :
|
5 IMPORTONT |
: , o » 5 + 4 M%Vﬁ? 2:06 h‘/gbz( j&othe |: NOTE: the difference in the two expressions :
I ¥ W™ : f add 5 then f s&wded by |
| +5 -4 I: dvide by 3 then add 5 :
I h\ N
ol ~.  NOTE |
I — 3| x5 |—» Bl +4) Thewhok fist output s |I f= x5 —» .3 f—| . 5 _> +5 I
| -5 + 20 muttipled by 5 |: |
: K.:g/ || Sometimes it helps to try to explan the expression n word — and corsider what has happened to the input :
F—————— =T = _____________________________________________________l
Substitution into an ex pression epr ese’ntlnq {Umtlons qrap hm'“ Not al graphs will be Inear orly those vith
Toke the function and gereraite a sequence 2(x + 3) an integer vale for x

Put the expression into a function machine

|
|
|
oo
= ' 2 |
|
|

Powers and fractions generate differently

| |
| |
| |
| §_> +3 |—»| x2 § shaped graphs |
| = 3 I
16 -'

Od?hj ut> the Ew fx - 10 : To represent graphicaly the nput becomes x co-ordnates 14 :
en Umes 0+3- 3. 13x2-26 1 and the output becomes y co-ordinates i 12 A+ |
e e gkt 3) Eol |
| Forming a sequence [ 7, + 3) e | 12 s | e oE |
|| outeurly | & L0 | | 4 Bossse s & o ear |
: lNPUT| | |2 | 3 | The sustiton & the. ‘veut va I: 2 araph you can predwtl

e substitution s the “nput” valve i other vales
o] e oo The OUTPUT becomes the sequence || TS Pec0mes a co-ordrete par prE ey I
(2, 10) to plot on a graph INPUT I



